Operaciones con Nimeros Duodecimales (C)

76481,
— 555615

A195¢9
+ 386B12

1103419
— 840By

A4y,
+ 476A4,

7A0615|6215

Calcule cada respuesta.

434B1,

X 212

1702719

— 9A419

307A7515|5112

100A25

— TT6A1

638012

— 488612

5B2219

X B2p9

8A8A19

+ 86B91,

A734

+ 23421,

250708154712

1378B12

— 492719

BAO,
X BO0q9

B2A75
X 1219

806012
X 3212

980119
X 8119

5A4A415|Bys
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Operaciones con Nimeros Duodecimales (C) Respuestas

76485
— 555615

21525

A195¢9
+ 386B12

11A44 5

1103419
— 840By,

482B5

A4y,
+ 476A4,

565215

7A0612|6215
133},

Calcule cada respuesta.

434B1,

X 212

869A19

1702719

— 9A419

91A619

307A7515|5112

726515

100A25

— TT76A1

45341,

638012

— 488612

16B61,

5B2219

X B2p9

56242415

8A8A19

+ 86B91,

1558719

A734

+ 23421,

10A7619

25070812|4712
640815

1378B12

— 492719

AAG4 o

BAOqs
X BO0q9

AA200;5

B2A75
X 1219

1114425

806012
X 3212

21570015

980119
X 8119

6618811s

5A4A415|Bys
649815
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